=0,350,-U. ]
—0,351y—Us47]2
=log —0,26
=logV+0,44
Uy=(A-550)/50

log[Empfindlichkeit]
|0g Lo = —0,35[.])\—U570]2
logLa=logLo +0,00

log[Sattigung]
logLo = 0,350, ~Us7d2
logLa= logLo +0,00

log fs/Lo, /Lo, Ma/Lq] g
Ma Saftigung L

Adaptation

1 :

1 00=-0,09 0g=-0,%

1 Lo=-0,35La=—-0,%
] M@g=-0,79 Mg=-0,&
1620
. Meec  sesec

b v £

600Ag/nm 700Ac 400

log[Empfindlichkeit] log
logLo = —0,35[.1;\—U570]2 log
logLa=logLo +0,00 log
Jlog [Lo, -, V2] log
Ma La Oa

+0,09
=log V+0,09
uy=(A—550)/50
Adaptation
O&M: 570
570: 1500
00=-0,09 05=0,00

L0=000 La=0,00
Mg=-0,09 Ma=0,00

4\5F.c 565EC
——

JGEGIEN
O&M: 620
ts=0.0

. 495ECc  S65EC
600Ag/nm 700Ac 400

log[Sattigung]
logLo = —0,35[y—Us70]?
logLa=logLo +0,00
log [Lo/Lo, /Lo, MalLq]
Séttigung L
Agiaptation
G&M: 570

495Ec  5¢5EcC

600Ad/nm 700Ac 400

500 600Ad/nm 700xc 400




